ER (W) M&EmEx

m B &M F = R~ =) HE
W-1...W-3 _
1. BEMTEEREN & i3 EK6mx55m 6 1@
W-1/W-2/E-1/E-2 K5mxE5m 4 g
2. BEMETER. AMMBEN S — —
W-3...W-6 / E-3...E-6 K6mxE=5m 8 g
4. AEXRTER & £K18mx52.5m 1 1E
W-1...W-6 N
5. MEERTRMNEMN S e £5.4mx53m 12 18
B W-1...W-7 N
6. MERTHRMERTE (BIT) N 1<4.15mx53m 14 1R
E-1/E-2 N _
7. LEEFEEREN S K6mx=5m 4 g
W-1/W-2
E-1...E-3 N _
8. LEFETR. FAMMABIEN &= K5mxE5m 6 g
W-1...W-3
9. EEZT _BIPEREITS K22mx52.5m 1 g
E-1...E-8
10, EEFZFFTHRMNERT S {£3.5mxE3m 16 1R
W-1...W-8
E-1...E-8
1. &, OBERTHREN S £3mx55m 16 g
W-1...W-8
12, %R, FERTEAMBES E(W) -1...E(W)-4 K5mxE12m 444
13, &R, AEFRTHEA & E(W) -1/ E(W)-2 K12mxE6m 4 1@
14, . AEETERA & E(W)1-1...E(W)1-14 2. 7mx=3m 28 1R
R OEETAETES E(W)2-1/ E(W)2-2 £1.1mxF50.86mxE3m 48
W-1...W-18
15, ERBIEN S KemxE4am 36 g
E-1...E-18
W-1...W-40
16, EEBAHE S {£0.96mxE50.76mx=3.5m 80 1R
E-1...E-40
17, I BEI WEAT & W-1/E1 K 12mxE13m 218
+0.9mxFr0.4mx54.5m 10 1R
18, Ml IRHEI & —
150.8mxF50.25mx54.5m 618
W-2 /W-3 /E-1/E-2 £28mxE6m 4 g
19, Ml PEET & = =
W-1/E-3 £20mxE6m 218
E-1/W-1/W-5 £ 20mxE6m 3 g
20, LEBEFRTIMEE — —
E-2...E-4/ W-2...W-4 K28mxE6m 6 g
21, b iamiEr & $0.8mx320.29mx=3.5m 618
W-1/W-2
22, R, ABERTIMET & K 16mx510m 4 1@
E-1/E-2
E(W) -1 £30mxE5m 2 g
E(W) -2/ E(W) -6 K44mx=5m 4 1F
E(W) -3/ E(W) -7 £38mxE5m 418
23, R. FRIEIME & — —
E(W) -4 £K24mxE5m 218
E(W) -5 £22mx=5m 2 g
E(W) -8 £28mx=5m 2 g

24, RERRXTHTIEN &

+0.75mx52.5m

141 18




